

## On the explicit form of $n$ -group operations

By M. HOSSZÚ (Miskolc)

An  $n$ -group is a non-empty set  $G$  in which an operation  $F(x_1, \dots, x_n)$  ( $n \geq 2$ ) is defined with the following properties:

(I)  $x_i \rightarrow F(x_1, \dots, x_n)$  maps  $G$  onto the whole of  $G$  for any one  $i$  of the indices  $1, \dots, n$  and for arbitrary constants  $x_k$  ( $k \neq i$ ) in  $G$  (transitivity);

$$(II) \quad F[F(x_1, x_2, \dots, x_n), x_{n+1}, \dots, x_{2n-1}] = \\ = F[x_1, x_2, \dots, x_i, F(x_{i+1}, x_{i+2}, \dots, x_{i+n}), x_{i+n+1}, \dots, x_{2n-1}]$$

holds for every  $i = 1, \dots, n-1$  and for each  $x_k \in G$  (associativity).

The 2-groups are the usual binary groups.

For the previous results on  $n$ -groups we refer to [2–15]. E. L. POST [8] has proved that every  $n$ -group  $G$  has a binary covering group  $K$  in which the  $n$ -group operation has the form

$$F(x_1, x_2, \dots, x_n) = x_1 x_2 \dots x_n, \quad x_i \in G \subseteq K.$$

However, here the group operation  $xy$  is defined on  $K$  and  $z = xy$  does not lie necessarily in  $G$  for every  $x$  and  $y$  in  $G$ . Here we give an explicit form of  $n$ -group operations by means of a binary group operation defined on the same set  $G$  and by a certain automorphism of this binary group. The following theorem will be proved:

**Theorem.** An operation  $F$  defined on a set  $G$  is an  $n$ -group operation if and only if it has the form:

$$(1) \quad F(x_1, \dots, x_n) = x_1 x_2^\alpha x_3^{\alpha^2} \dots x_n^{\alpha^{n-1}} c$$

where  $xy$  is a binary group operation defined on the same set  $G$  and  $x \rightarrow x^\alpha$  is an automorphism of this binary group the  $n-1$ -th power of which is an inner automorphism:

$$(2) \quad x^{\alpha^{n-1}} = c x c^{-1},$$

further  $c \in G$  is a fixed element unchanged by the automorphism  $\alpha$ :

$$(3) \quad c^\alpha = c.$$

It can be verified immediately that any function of the form (1) with an automorphism  $\alpha$  satisfying (2), (3) is an  $n$ -group operation. Thus in order to prove the Theorem we must show only that every  $n$ -group operation  $F$  can be written in the form (1), where  $\alpha$  is an automorphism with properties (2), (3). This will be proved by proving a sequence of lemmas.

**Lemma 1.** *If  $c_2, \dots, c_{n-1} \in G$  are fixed, then  $xy \stackrel{\text{def}}{=} F(x, c_2, \dots, c_{n-1}, y)$  is a binary group operation on  $G$ .*

This is evident by (I)–(II) if we put  $i = n-1$ ,  $x_{n+j} = x_{j+1} = c_{j+1}$ , ( $j = 1, \dots, n-2$ ).

Lemma 1 implies that for fixed  $x_k$  ( $k \neq i$ )

$$x_i \rightarrow F(x_1, x_2, \dots, x_n), \quad i = 1, n$$

are 1–1 mappings of  $G$  onto the whole of  $G$ . We show that a similar statement holds for  $i = 2, \dots, n-1$ .

**Lemma 2.** *For fixed  $c_2, \dots, c_{n-1} \in G$*

$$x \rightarrow x^{n_i} \stackrel{\text{def}}{=} F(c_i, \dots, c_{n-1}, x, c_2, \dots, c_i)$$

are 1–1 mappings of  $G$  onto  $G$ .

This is clear since

$$\begin{aligned} y \rightarrow (xy)z &= F[F(x, c_2, \dots, y), c_2, \dots, z] = \\ &= F[x, c_2, \dots, c_{i-1}, F(c_i, \dots, c_{n-1}, y, c_2, \dots, c_i), c_{i+1}, \dots, z] = \varphi(y^{n_i}) \end{aligned}$$

is a 1–1 mapping<sup>1)</sup> for every fixed  $x, z \in G$ , further  $y \rightarrow y^{n_i}$  maps  $G$  onto  $G$  on account of (I).

**Lemma 3.** *Every  $n$ -group operation  $F$  defined on  $G$  has the form*

$$(4) \quad F(x_1, \dots, x_n) = x_1 x_2^{e_2} \dots x_{n-1}^{e_{n-1}} x_n,$$

where  $xy$  is a binary group operation defined in Lemma 1, further,  $x \rightarrow x^{e_i}$  is the inverse mapping of  $x \rightarrow x^{n_i}$  defined in Lemma 2.

The proof is evident by (II) if we take

$$\begin{aligned} &F(x_1, x_2^{n_2}, \dots, x_{n-1}^{n_{n-1}}, x_n) = \\ &= F[x_1, F(c_2, \dots, x_2, c_2), F(c_3, \dots, x_3, c_2, c_3), \dots, F(c_{n-1}, x_{n-1}, \dots), x_n] = \\ &= F\{\dots F[F(x_1, c_2, \dots, x_2), c_2, c_3, \dots, x_3], c_2, \dots, x_n\} = \{\dots [(x_1 x_2) x_3] \dots\} x_n \end{aligned}$$

into account.

**Lemma 4.** *A function  $F$  of the form (4) satisfies (II) only if we have*

$$(5) \quad x^{e_i} = a_i x^{z_i}, \quad (i = 2, \dots, n-1),$$

where  $a_i \in G$  is a constant and  $x \rightarrow x^{z_i}$  is an automorphism.

This can be proved by putting (4) into (II):

$$\begin{aligned} (6) \quad &(x_1 x_2^{e_2} \dots x_{n-1}^{e_{n-1}} x_n) x_{n+1}^{e_2} x_{n+2}^{e_3} \dots x_{2n-1} = \\ &= x_1 x_2^{e_2} \dots x_{i-1}^{e_{i-1}} (x_i x_{i+1}^{e_2} \dots x_{i+j-1}^{e_j} \dots x_{i+n-2}^{e_{n-1}} x_{i+n-1})^{e_i} x_{i+n}^{e_{i+1}} \dots x_{2n-1}. \end{aligned}$$

<sup>1)</sup> The composition  $\varphi[\psi(x)]$  of one valued functions  $\varphi$  and  $\psi$  is 1-1 only if  $\psi$  is 1-1. This is clear since  $\psi(x) = \psi(y)$  implies  $\varphi[\psi(x)] = \varphi[\psi(y)]$ .

Let  $e$  denote the unit element of the binary group defined on  $G$  in Lemma 1. Then choosing

$$x_{i+1}^{e_2} = \dots = x_{i+n-2}^{e_{n-1}} = e$$

we get

$$(x_i x_{i+n-1})^{e_i} = x_i^{e_i} a_i^{-1} x_{i+n-1}^{e_i}$$

showing that

$$x^{x_i} \stackrel{\text{def}}{=} a_i^{-1} x^{e_i}$$

is an automorphism.<sup>2)</sup>

**Lemma 5.** *The automorphisms  $\alpha_i$  defined above satisfy the functional equations:*

$$(7) \quad x^{x_j x_i} \stackrel{\text{def}}{=} (x^{x_j})^{x_i} = c_{j,i} x^{x_k} c_{j,i}^{-1}, \quad k \equiv j+i-1 \pmod{n-1},$$

where  $c_{j,i} \in G$  are constants and  $x^{x_n} = x^{x_1} = x$ .

This is a consequence of (6) if we take (5) into account and keep  $x_k$  ( $k \neq i+j-1$ ) fixed<sup>3)</sup>:

$$(x_{i+j-1}^{x_j})^{x_i} = \begin{cases} c_{j,i} x_{i+j-1}^{x_i+j-1-(n-1)} d_{j,i}, & \text{if } i+j > n; \\ c_{j,i}^* x_{i+j-1}^{x_i+j-1} d_{j,i}^*, & \text{if } i+j \leq n. \end{cases}$$

Since the automorphisms  $\alpha_i$  leave the unit element  $e$  fixed, by putting  $x_{i+j-1} = e$  here we obtain  $d_{j,i} = c_{j,i}^{-1}$ .

**Lemma 6.** *Each of the automorphisms  $\alpha_i$  satisfying (7) can be expressed by means of a power e. g. of the automorphism  $\alpha_2$ :*

$$x^{x_i} = b_i x^{\alpha_2^{i-1}} b_i, \quad (i=3, 4, \dots, n).$$

This is true according to the formulae

$$x^{x_2^2} = c_{2,2} x^{x_3} c_{2,2}^{-1},$$

$$x^{x_3^2} = (x \alpha_2^2) \alpha_2 = c_{2,2}^{x_2} x^{x_3 x_2} (c_{2,2}^{-1})^{\alpha_2} = c_{2,2}^{x_2} c_{3,2} x^{x_4} c_{3,2}^{-1} (c_{2,2}^{x_2})^{-1}$$

obtained by the repeated application of (7).

<sup>2)</sup> Here we have

$$a_i^{-1} = x_{i+1}^{e_{i+1}} x_{i+2}^{e_{i+2}} \dots x_n x_{n+1}^{e_2} \dots x_{n+i-2}^{e_{i-1}},$$

which is a constant depending only on the choice of  $c_2, \dots, c_{n-1}$  since here  $x_{i+1}, \dots, x_{i+n-2}$  are fixed.

<sup>3)</sup> Here we have

$$c_{j,i} = [a_i (x_i x_{i+1}^{e_2} \dots x_{i+j-2}^{e_{j-1}} a_j)^{x_i}]^{-1} x_i^{e_i} \dots x_{i+j-2}^{e_{i+j-2}-(n-1)} a_{i+j-1-(n-1)},$$

$$d_{j,i} = x_{i+j}^{e_{i+j}-(n-1)} \dots x_{i+n-1}^{e_i} [(x_{i+j}^{e_{j+1}} \dots x_{i+n-1})^{x_i}]^{-1},$$

$$c_{j,i}^* = [a_i (x_i x_{i+1}^{e_2} \dots x_{i+j-2}^{e_{j-1}} a_j)^{x_i}]^{-1} x_i^{e_i} \dots x_{i+j-2}^{e_{i+j-2}} a_{i+j-1},$$

$$d_{j,i}^* = x_{i+j}^{e_{i+j}} \dots x_{i+n-1}^{e_i} [(x_{i+j}^{e_{j+1}} \dots x_{i+n-1})^{x_i}]^{-1}.$$

On account of lemmas 3,4 and 6 we get the form

$$F(x_1, \dots, x_n) = x_1 b_2 x_2^{x_2} b_3 x_3^{x_3} b_4 x_4^{x_4} \dots x_{n-1}^{x_{n-2}} b_n x_n,$$

$$(8) \quad F(x_1, \dots, x_n) = x_1 x_2^x a_3 x_3^{x^2} a_4 \dots a_n x_n.$$

where  $x^x \stackrel{\text{def}}{=} b_2 x^{x_2} b_2^{-1}$  is an automorphism and  $a_3, \dots, a_n$  are constants.

**Lemma 7.** *The  $F$  of the form (8) satisfies (II) only if*

$$(9) \quad (a_3 \dots a_n)^x = a_3 a_4 \dots a_n,$$

$$(10) \quad a_k x = x a_k, \quad x \in G, (k = 3, \dots, n-1)$$

hold.

Namely, in the case  $i=2$  we have by (II) and (8):

$$\begin{aligned} & (x_1 x_2^x a_3 x_3^{x^2} \dots a_n x_n) x_{n+1}^x a_3 x_{n+2}^{x^2} \dots a_n x_{2n-1} = \\ & = x_1 (x_2 x_3^x a_3 x_4^{x^2} \dots a_n x_{n+1})^x a_3 x_{n+2}^{x^2} \dots a_n x_{2n-1}. \end{aligned}$$

If we put here  $x_k = e$ , it becomes (9). If we put  $x_k = e$  for every  $k \neq 3$ , then taking also (9) into account, (II) for  $i=4$  gives

$$a_3 x_3^{x^2} a_4 \dots a_n = x_3^{x^2} (a_3 \dots a_n)^x = x_3^{x^2} a_3 \dots a_n,$$

that is

$$a_3 y = y a_3$$

holds for every  $y = x_3^{x^2} \in G$ . Therefore, if we put  $x_k = e$  for every  $k \neq 4$ , then by a similar reasoning we obtain

$$a_3 a_4 x_4^{x^3} a_5 \dots a_n = a_3^x x_4^{x^3} (a_4 a_5 \dots a_n)^x.$$

Being  $a_3$  commutable for every element of  $G$ ,  $a_3^x$  is also, hence

$$\begin{aligned} & a_3^x x_4^{x^3} (a_4 a_5 \dots a_n)^x = x_4^{x^3} a_3^x (a_4 a_5 \dots a_n)^x = \\ & = x_4^{x^3} (a_3 a_4 \dots a_n)^x = x_4^{x^3} a_3 a_4 \dots a_n = a_3 x_4^{x^3} a_4 \dots a_n, \end{aligned}$$

i. e.

$$a_4 y = y a_4$$

is true for any  $y = x_4^{x^3} \in G$ .

Thus (10) can be proved for every  $k < n$ .

By the Lemma 7 (8) can be written as follows:

$$(11) \quad F(x_1, x_2, \dots, x_n) = x_1 x_2^x x_3^{x^2} \dots x_{n-1}^{x^{n-2}} c x_n,$$

where  $c \stackrel{\text{def}}{=} a_3 \dots a_n$  satisfies

$$c^x = c$$

in accordance with (9).

A simple calculation shows that (11) satisfies (II) ( $i=1$ ) only if

$$2) \quad x^{x^{n-1}} = c x c^{-1}$$

holds. Taking (2) into account, (11) can be written in the more symmetric form

$$(1) \quad F(x_1, \dots, x_n) = x_1 x_2^{\alpha} x_3^{\alpha^2} \dots x_{n-1}^{\alpha^{n-2}} c x_n c^{-1} c = x_1 x_2^{\alpha} x_3^{\alpha^2} \dots x_n^{\alpha^{n-1}} c.$$

This completes the proof of the Theorem.

Since every continuous group defined on a real interval is isomorphic to the real additive group and every continuous automorphism of a real additive group is a homogeneous linear function [1], in the special case, where  $I = G$  is a real interval and  $F(x_1, \dots, x_n)$  is continuous, the following corollary is an easy consequence of our Theorem:

**Corollary.** *The most general form of continuous  $n$ -group operations  $F(x_1, \dots, x_n)$  on a real interval  $I$  is*

$$F(x_1, \dots, x_n) = f^{-1} \left[ \sum_{i=1}^n \alpha^{i-1} f(x_i) \right], \quad x_i \in I,$$

where  $f(x)$  is a continuous and strictly monotonic function the inverse function of which is  $f^{-1}$  and  $\alpha$  is a constant for which

$$\alpha^{n-1} = 1, \text{ i. e. } \alpha = \begin{cases} 1 & \text{if } n \text{ is even;} \\ \pm 1 & \text{if } n \text{ is odd} \end{cases}$$

holds. [14–15]

### Bibliography

- [1] J. ACZÉL, Vorlesungen über Funktionalgleichungen und ihre Anwendungen, *Basel und Stuttgart*, 1961.
- [2] R. BAER, Zur Einführung des Scharbegriffs, *J. Reine Angew. Math.* **160** (1929), 199–207.
- [3] R. H. BRUCK, A survey of binary systems, *Berlin–Göttingen–Heidelberg*, 1958.
- [4] J. CERTAINE, The ternary operation of a group, *Bull. Amer. Math. Soc.* **49** (1943), 869–877.
- [5] W. DÖRNTE, Untersuchungen über einen verallgemeinerten Gruppenbegriff, *Math. Z.* **29** (1928), 1–19.
- [6] A. P. GUINAND, Les équations fonctionnelles de la loi d'associativité ternaire, *C. R. Acad. Sci. Paris* **249** (1959), 23–24.
- [7] M. HOSSZÚ, Algebrai rendszerek értelmezett függvényegyenletek II, *MTA III. Oszt. Közleményei*, **13** (1963), 1–15.
- [8] E. L. POST, Polyadic groups, *Trans. Amer. Math. Soc.* **48** (1940), 208–350.
- [9] H. PRÜFER, Theorie der Abelschen Gruppen, *Math. Z.* **20** (1924), 166–187.
- [10] H. A. THURSTON, Partly associative operations, *J. London Math. Soc.* **24** (1949), 260–271.
- [11] H. A. THURSTON, Some properties of partly-associative operations, *Proc. Amer. Math. Soc.* **5** (1954), 487–497.
- [12] H. TVERMOES, Om en generalisation of gruppebegrebet (Thesis), *University of Copenhagen*, 1952.
- [13] H. TVERMOES, Über eine Verallgemeinerung des Gruppenbegriffs, *Math. Scand.* **1** (1953), 18–30.
- [14] E. VINCZE, Über die Charakterisierung der associativen Funktionen von mehreren Veränderlichen, *Publ. Math. Debrecen* **6** (1959), 241–253.
- [15] E. VINCZE, Verallgemeinerung eines Satzes über associative Funktionen von mehreren Veränderlichen *Publ. Math. Debrecen* **8** (1961), 68–74.

(Received September 13, 1962.)